Precalculus 11-02

Name:

Precalculus

Vectors in 3-D

To find a vector from the

If’a = (Ulv UZ! Ug) and a = (ul’ u2, U3),
Addition
o Add corresponding

11-02 Vectors in space

U = (vy, v, V3)
point (py, p,, p3) to the
U ={(q1 — P1,q2 — P2,q3 — P3)

point (q1, 2, q3)

l?+17=(l71 +u1,vz+u2,l73 +u3)

e  Scalar multiplication

O
e Dot Product

e Magnitude

e Unitvector in the direction of ¥

e Angle between vectors

e If6=90°(andu-v =
e Ifu = cv, then vectors are

cv = (Ccvy, CV,, CV3)

VU= 11U + VUy + V3ly

2] = /vf +v2 4+ v2

v
vl

u-v = |[ullll?|l cos 6
), then vectors are

Letim=(1,0,3)andn =(-2, 1, — 4)
Find ||m||

Find m + 2n

Find the angle between m and n

Find unit vector in direction of m

Findm -n
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Arep=(1,5 —2)andq = <—%, — 1,§> parallel, orthogonal, or neither?

Are P(1, —1, 3),0Q(0, 4, — 2),and R(6, 13, — 5) collinear?

Created by Richard Wright - Andrews Academy To be used with Richard Wright’s Precalculus




